%0 6 4E i

8 TRHE
FEDAMNLFMT7TEZAZ31HET

RrEREREBIEAN Y = 7 >

(BAZ : 1)
A H il
I RIS
1 ZHALL A (10,000 10)
EXBZIAS 100, 000 100, 000(FA{A& ( 0)
WA B 4 300, 000 300, 000
& YN B 0 0
= HR B Al 5, 000, 000 5, 000, 000
4 HEEIS
G U SO RPN X % g 11, 700, 000 11, 700, 000
Wk 0> A e O A I A AR A IS 8B
T2 720 OIS  EE LR 8, 204, 000 8, 204, 000
ETHERERES 2 N R & L BB 0 0
5. Z DGR
= BRI L 100
MEUZE 100, 000 100, 100
AR 7 25, 404, 100
I %
1. HER
CORPNLE
FABF 12, 140, 000
EEFIT 2, 428, 000
JRTRAG T2
TR A2 330, 000
NG G 14, 898, 000
(2) Z O
By 130, 000
JitHe A2ty 130, 000
B2} 380, 000
i 55 S5 A 2R
A (B N2 450, 937
SCEAF R 40, 000
HRFE 2, 160, 000
Kl - JeEE 420, 000
T DR 3,710, 937
A 18, 608, 937
2 EHT
CORPNLE
T B R 3, 500, 000
FABEF 1, 500, 000
EEFIT 300, 000
JRTRAG T2
TR A 30, 000
NG G 5, 330, 000
(2) ZOhiRE
By 40, 000
Jitk e A2 @ty 40, 000
AT 202
SCEAFHOR 600, 000
T DR 680, 000
FEAE 6,010, 000
R 24, 618, 937
2 HITHR AR 785, 163
I RH SIS
1. [ EEPETE AL
IR A
IV #5442
1 AR RIS IER
R SN
F5 | A7 24 30 15 W P 7 e D 785, 163
EABL, ERBLR OFERL 70, 000
24 1T IE B U P R AE 715, 163
T A 1 B P A 0
YR IR T R B pEE 715, 163




S TAEE EEhTHEE
BMTHFEAALIAPOAF8HEIA31IAET

FEHEREIENY =27
(HAT : 1)

e S

I RIS
1. ZWMARE fEA ( 0)
EBZRAST R ( 0)

2 BUEFR 4
ZHUE b4 500, 000 500, 000

i 3% 5 NFFA A% 0 0

3. ZEEhER A%
= B R Bl 5, 000, 000 5, 000, 000

4 FHEIUE
IHERBIEIZIE D < B A@AEF IR 22, 000, 000 22, 000, 000
Wk o H AR ) O AT AR A I
T2 720 QD < BEE R H I 17, 540, 000 17, 540, 000
FHHEHSE DIEFIIC X 5 BSR4 & IR %
T, HUISIRE X O R T o i % X % 95
BN (TS % o 2 k) 3, 190, 000 3, 190, 000
EEHERERESE 2R & U7 SR 0 0

5. Z OIS
= HORE 200
MEI 2% 500, 000 500, 200
RIS 48, 730, 200

IR #

1. F¥ER
SORUNS -
FaBkFY 23, 580, 000
IREREF 4,716, 000
SRR AG A2
(IR 450, 000
NS & 28, 746, 000
T OfhiRE
B 180, 000
=Stk 380, 000
NI d 780, 000
i 5% S5 A 2
HEAfiTi=EE= 901, 875
A TFHRE 40, 000
HARFEE 5, 320, 000
IKiE - eEVE 1, 120, 000
Z O EF 8, 721, 875
FEAG 37, 467, 875

2 ERE
SORNS -
1 B 4, 800, 000
FaBkFY 2,500, 000
IREREF 500, 000
SRR AG A2
(IR 50, 000
UNLE- & 7, 850, 000
T O
B 80, 000
Stk 80, 000
D INI=ESIE=d
A TR 1, 200, 000
Z O EF 1, 360, 000
BHEEG 9,210, 000
R HE 46, 677, 875

(2

(2

4 TR HE AR 2, 052, 325

I % AR
1. [EEH AR

SRS R

IV 354
1R AR
AR

BOG | AT 24 300 1 e P e s 2, 052, 325

BB, R OHER 140, 000

4 1) T I P P DR 1,912,325

IS E R U FE AR 715, 163

YA E Y PE AR 2, 627, 488




